support.coinbase.com

## coinbase

Transaction report for pavan chebrolu	Date range	Filter	Customer
You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, and Rewards Income, and Coinbase Earn transactions are taxable events. For final tax obligations, please consult your tax advisor.	From: 2012-01-01T00:00:00Z	Type: all	pavankumar.chebrolu@gmail.com
	To: 2021-02-15T17:20:48Z	Asset: all	5a304689f3cce90121d73191

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2017-12- 15T20:59:29Z	Buy	BTC	0.02768256	17917.42	\$496.00	\$500.00	Bought 0.02768256 BTC for \$500.00 USD
2017-12- 22T03:07:05Z	Send	BTC	0.02768256	14165.61			Sent 0.02768256 BTC to 1GWDSfy4x8caUshgBUmgEabv75ZJbHUiSp
2017-12- 31T00:14:00Z	Buy	BTC	0.0386076	12847.21	\$496.00	\$500.00	Bought 0.0386076 BTC for \$500.00 USD
2018-01- 07T19:55:08Z	Buy	BTC	0.000619	16160.01	\$10.00	\$10.00	Bought 0.000619 BTC for \$10.00 USD
2018-01- 11T02:53:15Z	Send	BTC	0.0386076	14435.56			Sent 0.0386076 BTC to 12fy7qpF12e8dAwTbEVd5vEK76iBUxNVTW
2018-01- 15T18:13:41Z	Buy	BTC	0.000719	13900.00	\$9.99	\$9.99	Bought 0.000719 BTC for \$9.99 USD
2018-01- 16T11:50:13Z	Buy	BTC	0.05820461	12454.17	\$724.89	\$750.00	Bought 0.05820461 BTC for \$750.00 USD
2020-12- 22T03:23:55Z	Sell	BTC	0.05954261	22674.18	\$1,350.0	8 \$1,329.96	Sold 0.05954261 BTC for \$1,329.96 USD

100 Pine Street, Suite 1250 San Francisco, CA 94111 +1 888 908-7930

Coinbase, Inc.

support.coinbase.com

Page 2/5

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2017-12- 15T20:58:22Z	Buy	ETH	0.71292188	695.73	\$496.00	\$500.00	Bought 0.71292188 ETH for \$500.00 USD
2017-12- 22T04:21:14Z	Send	ETH	0.71292188	715.52			Sent 0.71292188 ETH to 0xc3f06c0293f9fe5130e4426cc4866694f62e89c5
2017-12- 24T05:29:16Z	Buy	ETH	1.03654319	699.33	\$724.89	\$750.00	Bought 1.03654319 ETH for \$750.00 USD
2017-12- 24T05:56:02Z	Send	ETH	0.57336	698.41			Sent 0.57336 ETH to 0xc3f06c0293f9fe5130e4426cc4866694f62e89c5
2017-12- 24T06:12:10Z	Send	ETH	0.46318319	703.98			Sent 0.46318319 ETH to 0x725977cf770f6709cb487ca886828127719ba1bd
2017-12- 30T03:51:28Z	Buy	LTC	3.72817954	239.26	\$892.00	\$900.00	Bought 3.72817954 LTC for \$900.00 USD
2017-12- 30T04:25:11Z	Send	LTC	3.72817954	233.26			Sent 3.72817954 LTC to LQVyxJYLPtoBAVtGksoWqAudJgoqETPUtg
2020-11- 29T06:56:00Z	Receive	LTC	0.782	73.84			Received 0.7820 LTC from an external account
2020-12- 22T03:24:40Z	Sell	LTC	0.782	103.76	\$81.14	\$78.15	Sold 0.7820 LTC for \$78.15 USD
2020-12- 19T05:52:28Z	Coinbase Earn	MKR	0.0034668	576.40	\$2.00	\$2.00	Received 0.0034668 MKR from Coinbase Earn
2020-12- 19T05:52:32Z	Coinbase Earn	MKR	0.0034668	576.40	\$2.00	\$2.00	Received 0.0034668 MKR from Coinbase Earn

Coinbase, Inc.

100 Pine Street, Suite 1250 San Francisco, CA 94111 +1 888 908-7930

support.coinbase.com

		/5

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12- 19T05:54:32Z	Coinbase Earn	MKR	0.0034668	576.40	\$2.00	\$2.00	Received 0.0034668 MKR from Coinbase Earn
2020-12- 22T03:26:43Z	Sell	MKR	0.0104004	528.83	\$5.50	\$4.51	Sold 0.0104004 MKR for \$4.51 USD
2020-11- 29T06:31:09Z	Receive	CVC	3834.0	0.080000			Received 3,834.0000 CVC from an external account
2021-01- 07T15:36:18Z	Sell	CVC	3834.0	0.158000	\$605.59	\$596.57	Sold 3,834.0000 CVC for \$596.57 USD
2019-06- 23T02:49:35Z	Coinbase Earn	XLM	15.4075489	0.130000	\$2.00	\$2.00	Received 15.4075489 XLM from Coinbase Earn
2019-06- 23T02:50:02Z	Coinbase Earn	XLM	15.4057094	0.130000	\$2.00	\$2.00	Received 15.4057094 XLM from Coinbase Earn
2020-12- 19T18:49:39Z	Coinbase Earn	XLM	10.8448108	0.180000	\$1.95	\$1.95	Received 10.8448108 XLM from Coinbase Earn
2020-12- 19T18:49:58Z	Coinbase Earn	XLM	10.843576	0.180000	\$1.95	\$1.95	Received 10.843576 XLM from Coinbase Earn
2020-12- 19T18:51:06Z	Coinbase Earn	XLM	10.8312438	0.180000	\$1.95	\$1.95	Received 10.8312438 XLM from Coinbase Earn
2020-12- 22T03:25:04Z	Sell	XLM	63.3328889	0.160300	\$10.15	\$8.66	Sold 63.3328889 XLM for \$8.66 USD
2020-12- 19T18:45:42Z	Coinbase Earn	COMP	0.01888337	159.17	\$3.01	\$3.01	Received 0.01888337 COMP from Coinbase Earn
2020-12- 19T18:46:21Z	Coinbase Earn	COMP	0.01889526	158.85	\$3.00	\$3.00	Received 0.01889526 COMP from Coinbase Earn

Coinbase, Inc. 100 Pine Street, S

100 Pine Street, Suite 1250 San Francisco, CA 94111 +1 888 908-7930

support.coinbase.com

	2	0		- 1	/ 5
	ч	Э	0		1 -

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12- 19T18:46:37Z	Coinbase Earn	COMP	0.01889526	158.85	\$3.00	\$3.00	Received 0.01889526 COMP from Coinbase Earn
2020-12- 22T03:25:33Z	Sell	COMP	0.05667389	142.57	\$8.08	\$7.09	Sold 0.05667389 COMP for \$7.09 USD
2020-12- 19T18:48:25Z	Coinbase Earn	BAND	0.14980825	6.66	\$1.00	\$1.00	Received 0.14980825 BAND from Coinbase Earn
2020-12- 19T18:48:32Z	Coinbase Earn	BAND	0.14980825	6.66	\$1.00	\$1.00	Received 0.14980825 BAND from Coinbase Earn
2020-12- 19T18:48:54Z	Coinbase Earn	BAND	0.14978356	6.66	\$1.00	\$1.00	Received 0.14978356 BAND from Coinbase Earn
2021-01- 07T15:48:27Z	Sell	BAND	0.44940006	9.06	\$4.07	\$3.08	Sold 0.44940006 BAND for \$3.08 USD
2020-12- 19T05:44:10Z	Coinbase Earn	CGLD	1.22010737	1.64	\$2.00	\$2.00	Received 1.22010737 CGLD from Coinbase Earn
2020-12- 19T05:46:50Z	Coinbase Earn	CGLD	1.21876904	1.64	\$2.00	\$2.00	Received 1.21876904 CGLD from Coinbase Earn
2020-12- 19T05:50:51Z	Coinbase Earn	CGLD	1.22010737	1.64	\$2.00	\$2.00	Received 1.22010737 CGLD from Coinbase Earn
2020-12- 22T03:25:59Z	Sell	CGLD	3.65898378	1.58	\$5.78	\$4.79	Sold 3.65898378 CGLD for \$4.79 USD
2020-12- 19T06:01:51Z	Coinbase Earn	GRT	3.24464633	0.320000	\$1.04	\$1.04	Received 3.24464633 GRT from Coinbase Earn
2020-12- 19T06:02:37Z	Coinbase Earn	GRT	3.25309044	0.320000	\$1.04	\$1.04	Received 3.25309044 GRT from Coinbase Earn
2020-12- 19T06:56:46Z	Coinbase Earn	GRT	3.24464633	0.320000	\$1.04	\$1.04	Received 3.24464633 GRT from Coinbase Earn

.com		

Page 5/5

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12- 22T03:26:30Z	Sell	GRT	9.7423831	0.521400	\$5.08	\$4.09	Sold 9.7423831 GRT for \$4.09 USD

Coinbase, Inc.